[image: image1.wmf]
1.
Open the sketch Acute-Right-Obtuse.gsp

2.
Press the Construct Triangle button. 

Press the Build Squares button.

Click in the “white space” to de-select everything.

3.
Find the measures of the following…

[image: image2.wmf]a.   all sides of    ABC

b.   all angles of    ABC

4.   By hand, find the area of the squares attached to each side of the triangle.

(Remember that values are rounded to the nearest tenth)

Area of a2 = ________
Area of b2 = ________
Area of c2 = ________


5.  Highlight each square and calculate the area.  Check your answers in #3.

6.
Calculate the area of a2+ b2.

a.
Go to the Measure menu and select calculate.  

b.  Click on the measure of a2 type a plus sign then click on the measure of b2, OK.

7.
Create a table of values by… 

a.  In order, click on the measures of (BCA, a2, b2, a2+b2, c2.

b.
Go to the Graph menu and choose Tabulate.

c.
Drag the table of values to a convenient location in your sketch.

d.
Double click on the table to create a new row.

e.
Drag point B so that (BCA becomes an acute angle.

f.
Double click on the table to add a new row.

g.
Repeat steps e and f making (BCA an obtuse angle.

8.  Fill in the following table with the values from the table on the computer.  Classify each triangle by acute, right or obtuse.

	m(BCA
	a2
	b2
	a2 + b2
	c2
	Classify (ABC

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


9.  Looking at the last three columns above, do you see any relationship between the values and type of triangle within each row?  Keep in mind the values are rounded to the nearest tenth.  Discuss your ideas with your partner.


10.  Complete the following three statements.


If a2 + b2  ____  c2, then the triangle is _______________.

If a2 + b2  ____  c2, then the triangle is _______________.

If a2 + b2  ____  c2, then the triangle is _______________.
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